
 
 

 

 

Using Impact 2 to show the importance of 

improving choice  
 

You can use Impact 2 to show the benefits that are gained by ensuring women have access to 

more effective long-acting methods of contraception.   

 

What this means: 

We know that there are many benefits to ensuring that women have access to a full range of contraceptive 

methods.  Not only do long-acting and permanent offer better protection against pregnancy (e.g. the failure 

rates are much lower than short-term methods), they also give women protection for multiple years, 

meaning they do not have to come back to a service provider to re-supply as often.  Both of these benefits 

can be shown using Impact 2 by comparing the outcomes of women who received LAPMs from your 

programme to what might have happened if they did not have access to these methods (i.e. could only use 

short-term methods instead).   

To do this, you will run the model twice—once including LAPMs, then again under the assumption that your 

organization does not provide LAPMs and that those LAPM users were instead using contraceptive pills.  

To do this, you will need to cut and paste results into a separate Excel workbook, then compare them in a 

table or graph.   

 

What you need: 

 Service provision data by method and year (note: for MSI countries service data up to 2013 is 

already pre-loaded into the model) 

 Blank Excel workbook for additional calculations  

 

Step by step instructions: 

1. Open Impact 2—make sure you have enabled macros or else the model will not work 

 

2. Click next, and say “yes” to the terms and conditions 

            



 

3. Pick ‘Organisation(s)’ mode 

This mode allows you to view the individual impact of the services delivered by your organization.   

 
 

 

4. Select your country from the drop down list  

Hint: use the list on the left to filter to the list of countries you are looking for.  You can also run Impact 2 

on an entire region by selecting “Regions/sub-regions” from the filter list on the left.  

 
 

 

5. Set your timeframe 

You can look at any timeframe starting from 2001 through 2020.  This exercise can either be done 

looking at clients who you have already provided LAPM services to (i.e. looking to the past), or, 

hypothetical future clients.   

 

6. Enter your programme’s service provision data (or double check the data, if it is pre-loaded), 

then click next 

You must enter service provision data for all the years included in your selected timeframe.  You 

may also want to include LAPM service data from previous years, if available, to get a full picture of 

the number of people using LAPM services provided by your programme historically. (Including 

LAPM data from prior years allows Impact 2 to account for those users that would carry over into the 

selected time period as they are still using an LAPM provided before the selected time period.) 

Select country/region here 

Use this box to filter list of 

countries/regions 



  
 

 

7. You don’t need the optional Client Profile data for this result, so just click next 

 

8. Select “Estimated number of family planning users” from the Impact 2 menu 

 
 

9. Copy and paste out the “Annual users” table into a new Excel workbook 

You will need to copy the “Annual users” summary table that appears below the graph.  You will be 

using the “Total long-acting and permanent methods” user figures for the selected years in Step 13.  

 

Hint: You may need to select ‘paste special/paste as values’  

Enter service provision data in these yellow boxes for the years you 

have included in your selected timeframe. 

You may also include LAPM service data prior to the selected period, 

as those services continue to have an impact in subsequent years.   



 
    

10. Click on the main menu button, and click on “Health, demographic, and economic impacts” 

 
 

11. Choose to view ‘Annual’ results 

By looking at annual results, we will be able to compare the impacts that happen each year when 

the women have a full range of method choice (LAPMs & STMs), to the impacts that might have 

happened if they instead had to rely solely on short-term methods. 

 

12. Copy and paste total the “Total annual impacts” table into your new Excel workbook.  

You can pick which impacts you want to include in your comparison of results- we suggest you 

include unintended pregnancies averted, maternal deaths averted, unsafe abortions averted, and 

direct healthcare costs saved.  When pasting these impacts into your excel workbook, be sure to 

note that these results are based on providing a full range of FP services (LAPMs & STMs).   

Copy this table to your 

new Excel workbook 

You will need this 

data for Step 13. 



Hint: You may need to select ‘paste special/paste as values’  

 
 

 

Now it is time to look at impacts that would have happened if these LAPM users had instead used 

oral contraceptive pills: 

 

13. In your separate Excel file, calculate how many pill cycles would have been needed for all of 

the women using LAPMs during your selected trends to have used pills instead 

This should be done in the new Excel workbook where you pasted your user numbers.  The model 

assumes that women need 13 pill cycles to be covered for 1 full year—therefore, each year each 

user would need 13 pill cycles to have been covered by pills instead of their LAPM.  So, you can 

calculate how many pill cycles would be needed each year to reach the same number of users by 

multiplying our Total long-acting and permanent methods (user) number each year (cut and 

paste during step 9) by 13. 

 

 
 

14. Return to Impact 2 and click the menu button, and click on ‘Go to Service data” 

 
 

15.  Delete all LAPM service numbers (from the years you are including as well as from previous 

years). Now add the pill cycle numbers you just calculated to the existing pill figures (in the 

pills row).  Then hit “Next” 

 

 

 

 

 

 

 



You will need to select “Paste Special”, then select “Paste: Values” & “Operation: Add”  

 
 

16. You don’t need the optional Client Profile data for this result, so just click next 

 

17.  Select “Health, demographic, and economic impacts” from the menu.  

 
 

18. Choose to view ‘Annual’ results 

By looking at annual results, we will be able to compare the impacts that happen each year when 

the women have access to a full range of contraceptive methods to the impacts that might have 

happened if they were only offered short-term methods.  

 

19. Copy and paste the “Total annual impacts” table into your Excel workbook, as you did in 

Step 12. 

In your excel workbook, be sure to note that these results are based on women using STMs.   

Hint: You may need to select ‘paste special/paste as values’  

 

Delete all LAPM data- be sure to delete 

any historic data (scroll left to find this) 



 
 

20. Document and prepare your results.  

 

With the results, you can now compare your Full Choice and STM-only impact results, in both text 

and graphs, in your Excel workbook.  For example, if you subtract the two numbers you will see the 

“additional impact” of offering full choice.  Be sure to keep a record of how you got to your results so 

that you can re-do the calculation at another time if need be.  This means you should keep track of 

what service provision data was used, and what timeframe was selected. You can use the “export 

results” feature (on the menu) to create a file with all of your input data.   

 

Understanding results: 

These results from Impact 2 help to illustrate how providing access to long-acting and permanent methods 

can result in larger health, demographic, and economic impacts.  

These larger impacts result from a number of factors: 

 LAPMs have lower failure rates that STMs and so provide better protection against unintended 

pregnancies and subsequent potential outcomes.  

 LAPMs are effective over a longer period of time and therefore can provide impacts into future 

years. The impact of STMs can only be estimated over a single year, as none can provide 

protection for more than a few months. In addition, STMs require women to return to a facility more 

frequently to restock or undergo additional injections, potentially posing challenges to consistent 

use.  

In addition to the impacts listed here, you should consider the additional benefits that can result from 

providing women with full choice. 

  



Worked example—looking at comparative impact of Method Mix: 

Here is an example from the Philippines, which delivered over 300 thousand LARC services in 2013. We 

will first produce their total impacts from 2009-2013 to get a baseline of the impact of their current method 

mix (offering full choice in family planning). Then we will run the model as described above to look at how 

their impact would differ if those women who received LAPMs only had access to STMs (we will assume 

they switched to OC Pills in this example).   

Key Question: What was the impact of providing a full range of contraceptive methods (LAPMs & STMs) 

over the past 5 years, as compared to only offering STMs? 

 

Here is what we did: 

● Impact 2 was run on “Organisation” mode for the Philippines, from 2009-2013, looking at “service 

provision to impacts”.  

● Initially, we ran the model using the pre-loaded service data, featuring the full range of family 

planning method 

o We generated the Family Planning User figures, and copied the LAPM users out to a 

separate Workbook (in order the calculate the OC Pill cycles needed to serve those users): 

 
 

o We also generated the Annual health, demographic, and economic impacts resulting from 

offering full choice in family planning methods and copied them into our separate Workbook. 



 
 

● Then, in our separate Workbook, we calculated how many OC pill cycles would be required to cover 

the women who were using LAPMs delivered by MSI in the Philippines between 2009 and 2013. 

 
 

● We then returned to the model, selected the “Main Menu” button and selected “Go to Service Data”. 

There we deleted the LAPM service data and added the “Total pill cycles needed to cover existing 

LAPM users” to the existing pill data pre-loaded into the tool. 

●   

● We reran the model using these new service figures in order to estimate the impact that would have 

occurred if our programme had only offered STMs 

o We generated the Annual health, demographic, and economic impacts resulting from 

offering only short-term family planning methods and copied them into our separate 

Workbook for comparison. 

 
 

● With the results from both scenarios we can now compare and identify the difference in impact that 

might have occurred if our programme in the Philippines (PSPI) were only providing STMs 

o The results from Impact 2 describe the negative outcomes that were or would be averted by 

providing family planning and safe abortion services (e.g. unsafe abortions averted, maternal 



deaths averted, etc.). When comparing results, it is best to frame the difference in terms of 

the positive effects (e.g. By providing full choice in contraceptive methods, this programme 

averted and estimated additional X maternal deaths OR Because this programme offered full 

choice, X many more women lived).  

 

Here are the results from our comparison and some examples of ways to display the data: 

 

 

 

 

For more information on how impacts are calculated, full details can be found in the methodology 

paper, available online here: http://www.mariestopes.org/impact-2  
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